= A
N = 0] &F AF S & AN A
20148 = 20l A LBHS| A of 2k 4= ATt
SN WYL
MY M)|E2 OEXL L 24002 S (SHHSS/HLSL - 0E)
ol BHYSADIBES U ool X EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
off 2F 4= AF 1} 9,195,325 6,864,123 2,331,202
= 894,800
2 2,554,000
J| 20,000
= 20,000
& 1,602,660
Al 4,103,865
AJES HEXZH L £ S (S2old4=AH/0HS 9,122,645 6,788,563 2,334,082
aph. 0l &)
= 894,800
2 2,554,000
J| 20,000
= 20,000
=} 1,602,660
Al 4,031,185
OHELAD|EFEAS 2 Hgol XIS 2,730,307 1,878,027 852,280
2 532,000
=} 740,940
Al 1,457,367
HEHANZRZH 400,000 1,200,000 A 800,000
2 200,000
& 60,000
Al 140,000
401 Al HI L £ 0HHI 400,000 1,200,000 A 800,000
2 200,000
= 60,000
Al 140,000
01 Al& B 400,000 1,200,000 A 800,000
OHLYHAZ2R XM 400,000, 000& 400,000
2 200,000
< 60,000
Al 140,000
SEDNSHSSEEHH ALY 210,000 0 210,000
2 147,000
= 31,500
Al 31,500
403 XX SHHS K20 & 210,000 0 210,000
= 147,000
= 31,500
Al 31,500
02 BII 2+ S Ofl CH B CH 84 AL 2 ] 210,000 0 210,000
OsZHZOISHE =SS HUAMY 210,000,000& 210,000
2 147,000
=} 31,500
Al 31,500
S AMEAX JFZ2AIE XA 300,000 0 300,000
2 150,000
< 45,000




SA YA A D
MY M)|E2 OEXL L 24002 S (SHHSS/HLSL - 0E)
ool B A MIIBEA & ojlel X (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 105,000
402 SI2F 20| & 300,000 0 300,000
2 150,000
& 45,000
Al 105,000
01 Q228 X 300,000 0 300,000
Ox=NZ MXIIBAE XA
300,000,000 300,000
2 150,000
= 45,000
Al 105,000
AENAQIAD| AR 70,000 70,000 0
2 35,000
& 10,500
Al 24,500
401 AlEHIZ £ 0HY| 70,000 70,000 0
2 35,000
& 10,500
Al 24,500
01 Al& H| 70,000 70,000 0
OA280HA 212D AX| 70,000,000 70,000
2 35,000
== 10,500
Al 24,500
SMEFH XS 151,000 151,000 0]
203 ¥ 2 = &4 1,000 1,000 0
03 Al ZH =X 2= XIH| 1,000 1,000 0
OF=NMEFH HANYER =X 1,000,000 1,000
307 2iz2to| A 150,000 150,000 0
04 QIZ2tSHALE X 2 150,000 150,000 0
O=NMEFH AN K& 150,000,000 150,000
NEES =M= XA 81,000 70,000 11,000
& 10,000
Al 71,000
203 € R F=&d| 1,000 0 1,000
03 AIEH =X 2 F X Y| 1,000 0 1,000
OFHEZH A HRFA 1,000,000& 1,000
307 212t0| & 80,000 70,000 10,000
o= 10,000
Al 70,000
04 QIZISH AL X 2 80,000 70,000 10,000
ONASs +a2 SHIUS(HOSH)
80,000,000 80,000
= 10,000
Al 70,000
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TSNS Y S NJ 150,000 173,000 A23,000
307 glz2tol & 150,000 0 150,000
02 QIZtFAE XS 150,000 0 150,000
O=x=¢tE =M 43 XN& 150,000,000 150,000
TEFTUZTESLENE 64,000 0 64,000
< 32,000
Al 32,000
307 21201 A 16,000 0 16,000
< 8,000
Al 8,000
02 B AEXS 16,000 0 16,000
O+=&FHES NEHA 16,000, 000& 16,000
< 8,000
Al 8,000
402 QI2H X201 M 48,000 0 48,000
< 24,000
Al 24,000
01 BIZEAI=2E X 48,000 0 48,000
O+&EF¥8EZ SHIA(ZZN )
48,000,000 48,000
< 24,000
Al 24,000
FASSSEHE(ATEBIOH) X2 65,000 50,000 15,000
307 21201 A 20,000 20,000 0
02 BIZHAAMNEXS 20,000 20,000 0
OFNESBSSEHE (MELIL) HEHA X
20,000, 000& 20,000
402 RI2HXt20l ™ 45,000 30,000 15,000
01 2I2tR2E X 45,000 30,000 15,000
Ox=MESZSEHE (MAHICH) ZEW ME X
2 45,000,000& 45,000
=B HO SEFEN B2 7,200 6,480 720
< 1,440
Al 5,760
307 21201 A 7,200 0 7,200
< 1,440
Al 5,760
02 2P AEXS 7,200 0 7,200
Ox=4taFH HYRSEFEXN =2 XN&E
7,200,000& 7,200
= 1,440
Al 5,760
Hgo ASEM X2 110,007 82,547 27,460
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S YA D
M MIES HEZH U 240 SH(SHHSLL/HISL - O E)
el YA AIIBES © ofgiel X (B9 ®R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O==a=Z A 10,000, 000& 10,000
O A& EHl Xl 5,000,000& 5,000
401 Al HIZ 201 I 25,000 10,000 15,000
01 A& HI 25,000 10,000 15,000
O L =LAIFAE FXES 25,000
CHESENLZAMEE RAE=
10,000,000 10,000
cAEHHAAI RAES 10,000, 000& 10,000
oYENMsSHI i=AUANE RRNES
5,000,000 5,000
JEFHAE(QC) 243 N 58,100 14,000 44,100
< 41,500
Al 16,600
402 QI2H X201 M 58,100 14,000 44,100
< 41,500
Al 16,600
01 RIZEAt =282 X 58,100 14,000 44,100
OZEFTHLZF(AC) =E243 X
58,100,000& 58,100
< 41,500
Al 16,600
SHESSSEHE(FF) 2L S MEXNH 18,000 0 18,000
< 9,000
Al 9,000
402 RI2EX20| ™ 18,000 0 18,000
= 9,000
Al 9,000
01 22X 2E X 18,000 0 18,000
Ox=MESTSEHE(HG) ZIYA S HE
A& 18,000, 000& 18,000
< 9,000
Al 9,000
HEEHNS S2AE HAXI2 A 1,000,000 0 1,000,000
< 500,000
Al 500,000
402 RI2HXt20l ™ 1,000,000 0 1,000,000
< 500,000
Al 500,000
01 2I2tR2E X 1,000,000 0 1,000,000
OYEHAHSE SSAE HAXA
1,000,000, 000& 1,000,000
< 500,000
Al 500,000
ML & HYALASEN 1,361,920 2,090,420 A728,500
= 114,400
& 522,000

(&)




M ol =40
MY M)|E2 OEXL L 24002 S (SHHSS/HLSL - 0E)
Sl AMUTRTS U HYAASEH CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 20,000
< 75,460
Al 630,060
MBE LSS 513,000 288,000 225,000
& 350,000
Al 163,000
206 M= Hl 500,000 277,000 223,000
& 350,000
Al 150,000
01 MHZ 8l 500,000 277,000 223,000
=MSEHLEFALS 500,000,000 500,000
= 350,000
Al 150,000
301 LB A F 13,000 11,000 2,000
09 AL HIZE A= 13,000 11,000 2,000
O=EZLF ALY 3 QI2Iol MY 24
2,000,000 2,000
OXNEZelZsH ST HAL 24X A4
5,000,000 5,000
OXs2clESH =0z ST A2
5,000,000& 5,000
oszeldyy =2 -t ns FAL Al
gat 1,000,000 1,000
g2YFEHINS X2 ALY 200,000 200,000 0
201 Let24d] 7,200 0 7,200
02 2524l 7,200 0 7,200
OdZEeRT RLYMYI =AHE 0t ¢
7,200,000& 7,200
206 M= Hl 172,800 180,000 AT7,200
01 MHZ 4l 172,800 180,000 AT7,200
O0IHE SR &= 172,800, 000& 172,800
403 A X EHHS 20l A 20,000 0 20,000
02 S| 2 S0il CH&HCH & A Bl 20,000 0 20,000
O'2Hg F32' AZFLA 20,000, 000& 20,000
OrSEHE 30,000 30,000 0
402 RI2EX=20l A 30,000 30,000 0
01 RIZEAI2E X 30,000 30,000 0
OIS0 EIMNY 15,000,000 *20H A 30,000
Ottt AS2 =4 40,000 40,000 0
< 15,000
Al 25,000
402 RIZ2HR20l ™ 40,000 40,000 0
< 15,000
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40,000,000

=

40,000

40,000

15,000
25,000

40,000

Ogad AHE2elEB2sH N

= N H

90,000
50,000
12,000
28,000

386,500

A 296,500

o
N

iy
P

402 tXtE0ld

= N W

90,000
50,000
12,000
28,000

346,500

A 256,500

01 2I2tAt
g

rt
H

ES

©
>

{0

t

AE2elsSH X

90,000,000

= M W

90,000
90,000

50,000
12,000
28,000

346,500

A 256,500

2A0E NS AIEEH X

= M1 0E

48,000
30,000

5,000
13,000

48,000

402 2I2tXt=01 &

= H

48,000
30,000

5,000
13,000

48,000

01 fI2tXt=28 =

NS A28 XA

48,000,000

= e

48,000

48,000
30,000

5,000
13,000

48,000

S JtAtel 2 HALS

= M

100,000

15,000
85,000

98,000

2,000

307 21201 A

= M

100,000

15,000
85,000

98,000

2,000

100,000,000

= M

100,000

100,000
15,000
85,000

98,000

2,000

> H K

18,000
9,000
2,340
6,660

18,000

18,000

18,000




2

2N
X ZH -
L= B

el

=]

0:

R A=t
N
[ He
= 4
i ez
'
o
o
0x
o
o
%
02
1>
[P
o
02
4>
[
=}
i
m
B
£l
40

2
>0y 4>

=}

[oro =
P
g
I
FA
o X

0:
W

SA-3H-S(3AH) - MRAS - BES Off &t 24
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9,000
2,340
6,660

= W

01 AP 2t2ltl 18,000 0 18,000
OXRXZYH AL 18,000,000& 18,000

9,000
2,340
6,660

= i

SHAIOIE H B A 166,000 166,000 0

133,000
10,000
23,000

= H g

401 AIEHIZ 2 I 166,000 166,000 0
133,000

10,000
23,000

= M0

01 A& HI 161,103 161,103 0
OLANE AL 161,103,000& 161,103
129,077

9,705
22,321

02 Zeldl 3,735 3,735 0
oOLANE ety 3,735,000 3,735
2,992

225
518

CH 8l 1,162 1,162 0
OE HatAtd 1,162,000& 1,162
931

70
161

= H1 g

= 08

> H oK

HAIE SZHE A 50,000 30,000 20,000
50,000

H

401 AIEBIZ 2 THYI 50,000 30,000 20,000
50,000

H

01 A€ Hl 50,000 30,000 20,000
O A B2 AL 50,000,000 50,000
50,000

H

HEMELIE XA 11,000 36,920 A25,920
1,800
Al 9,200

t

201 L Er2A | 5,000 5,000 0

22l bl 5,000 5,000 0

5,000,000& 5,000

402 QI2tXt=01 ™ 6,000 6,000 0
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1,800
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6,000

6,000

1,800
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= H W

25,920
14,400
4,320
7,200

25,920

307 21201 A

= M W

25,920
14,400
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= M
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= [

50,000

20,000
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50,000

206 M= 4l

= [

50,000

20,000
30,000

50,000

50,000,000

= Al

50,000

50,000
20,000
30,000

50,000

= M W

1,606,200
775,400
324,260
506,540

1,372,380

233,820

K%
2
=)
rx
0y
S

H

764,000
611,200
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= W
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= W

753,000
602,400
75,300
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000

96,000

01 2I2txt=

753,000,000

= MW

753,000

753,000
602,400
75,300
75,300
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000

96,000

= MW

326,400
163,200

48,960
114,240

48,

000
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402 212t A= 01 &

= MW

326,400
163,200

48,960
114,240

48,

000

278,400

01 I2tXt=28 =

OnsE e RFEZ ZHIXIJ(1,2000t)

326,400,000

= MW

326,400

326,400
163,200

48,960
114,240

48,

000

278,400

Hetold g8 |RFH XN
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= M

220,000

110,000
110,000

,000

68,000

307 21201 A

= M

220,000

110,000
110,000

,000

68,000
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A o A D
M A)ES OEXH U S4002 SH(SHHSLA/HASL - 0E)
el ORI A EHE U oMzl
= - - SHE|
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 e
307 glz2tol & 130,000 89,580
< 65,000
Al 65,000
02 QItFAE XS 130,000 89,580
OUWEA Mol2A4EAZ X 130,000, 000 130,000
< 65,000
Al 65,000
=40 OHEM B H EE2 AFEAY 37,400 37,400
< 15,400
Al 22,000
307 21201 A 37,400 37,400
< 15,400
Al 22,000
02 QB AEXRS 37,400 37,400
O=4tol ot BH B2 X 37,400,000& 37,400
< 15,400
Al 22,000
HeE AZEZSEX B2 16,000 16,000
< 8,000
Al 8,000
402 BI2HX=0l M 16,000 16,000
< 8,000
Al 8,000
01 2I2tRE2E X 16,000 16,000
OHEE AZHSEX 22(200H)
16,000, 000& 16,000
< 8,000
Al 8,000
DAL MED B2 9,600 9,600
402 2I2H X201 M 9,600 9,600
01 2I2tRE2E X 9,600 9,600
ODNYZA MAEI ESAY 9,600,000& 9,600
LXIHOH A AHS 2,000 2,000
= 1,000
= 500
Al 500
201 LB-2d| 2,000 2,000
= 1,000
< 500
Al 500
01 At 2t 2l 2,000 2,000
OYXIHO &ML 2,000, 000& 2,000
= 1,000
< 500
Al 500




M ol =40
HE: AJES OEXZY U M0 SH(SYHRSLL/HSSL - O F)
CHelr OYEA Y U ofa e (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SHOHY NS 2 el u=s 100,800 128,800 A 28,000
201 24l 49,800 54,800 A5,000
01 At 2t 2l 11,200 16,200 A5,000
OBt~ 10,000, 000 10,000
ou=l 1,200,000& 1,200
02 =224l 38,600 38,600 0
oA ZHl 2,000,000& 2,000
o0zE2= & HMA 1,600,000 1,600
O Xt& & Bt 35,000, 000& 35,000
301 et A= 5,000 4,000 1,000
09 AL HI B &S 5,000 4,000 1,000
ooge uws FAL AdEa
5,000& *1,0004 5,000
308 XXM SOl A 6,000 0 6,000
05 HXSHHMARFE = 6,000 0 6,000
O=S80HY XNEH=s J120 e HEsEX
6,000,000 6,000
401 A& HIZ 201 I 40,000 70,000 A 30,000
01 A& HI 40,000 70,000 A 30,000
ONgXNTH Il & Jl2U=2
40,000,000 40,000
HotEFEA L e 3,424,218 1,447,736 1,976,482
= 5,000
& 1,500,000
J| 20,000
< 462,000
Al 1,437,218
o1 oA H| 2,000,000 0 2,000,000
& 1,400,000
S 180,000
Al 420,000
401 Al HIZ 201 I 2,000,000 0 2,000,000
& 1,400,000
< 180,000
Al 420,000
01 A& HI 1,995,000 0 1,995,000
O E~AIE2E ACHEHI ALY 1,995,000, 000& 1,995,000
=1 1,396,500
= 179,550
Al 418,950
03 Al S THHI 5,000 0 5,000
Od&~AEZH HAOFEHIALS 5,000,000 5,000
& 3,500
= 450




SN WYL
MY M)|E2 OEXL L 24002 S (SHHSS/HLSL - 0E)
Chel: HotEAS M L Eael (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 1,050
HEZFOHEANE &= 467,000 200,000 267,000
< 140,000
Al 327,000
401 Al& HI & 28I 467,000 200,000 267,000
< 140,000
Al 327,000
01 A& HI 465,000 198,560 266,440
OMEe d4%E AF 266,000,000 266,000
= 79,800
Al 186,200
O=ES O&E AF 199,000, 000& 199,000
< 59,600
Al 139,400
03 AlE S THHI 2,000 1,440 560
OMEe 8a%E AF 1,000,000 1,000
< 300
Al 700
O=ES O&E AF 1,000, 000& 1,000
< 300
Al 700
HERX 22l & = 211,000 230,000 A 19,000
401 Al & HI & 28I 211,000 230,000 219,000
01 A& HI 210,100 230,000 A 19,900
ogsiael ¢ =M 30,000, 000& 30,000
OM3S 2T 25 &IAY
30,000,000& 30,000
OABHE-FIL HAMMZ 22T 243
51,000,000 51,000
OMHE sle OUIls3B2t LAY
99, 100, 000& 99,100
03 Al & S Ohl 900 0 900
OadE fe OIls32 ZdAE 900,000 900
=MTUAES Y 2el 10,000 10,000 0
= 5,000
< 1,500
Al 3,500
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Al 35,000
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101 @124 Hl 8,632 8,072 560
04 DIt Z2XREES 8,632 8,072 560
OofEMeI] = A2 8,632,000 8,632
201 Let2d] 16,000 16,000 0
01 At 22l 6,000 6,000 0
OB+t 6,000,000 6,000
02 =224l 10,000 10,000 0
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206 = Hl 4,000 4,000 0
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